d Iy} [pb/GeV]

pt,had
T
o
w

dc/ d

Ratio to ATLAS

<
=

|
o
N

=

—
<
N

0.5

13000 GeV pp tt

T ]l I rroy o o o o T )
= top 3 o
— pT (ATLAS semileptonic ttbar) 413
B X
o
B —
A\
— — d
= 35
—u ] ;
% Z

= R =
- .x\_)‘} - = B
I ‘Wﬁ\ ] %
¥
:_ s _: O
— —H4 O
L 1M
[ -1
u i
B %
B ATLAS T,
= ---- Herwig 7.2.1 default T = g
o ¢ Sherpa 2.2.5 default o 15
B —-1°
| — U
B o
o
(&)
S P P S I R S B R R =
= 42
- ! 11

N EL?%J -------------------- T 7

—he 1 —0.5
L N N T T T I T T R T T R l
500 1000 1500 2000

p" [GeV], Iy in [1,2]



	Contents
	Page 1


